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10001000 X 2.25% X 2 X (1—20%)=1000 X (142.25%X2X(1—20%)) =1036(7T)
RN AE N, RIS AR S INR A AE A, fIBRALERL, BT
1000+ 1000 X 1.98% X 1 X (1 —20%) =1000 X (1+1.98% X 1X (1—20%)) =
1015.84(70)
1015.84+1015.84 X 1.98% X 1X (1—20%)=1015.84 X (1+1.98% X 1 X (1—20%))
~1031.93(70)
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1000X (141.98% X 1X(1—20%)) X (141.98%X1X(1—20%)) X (1+1.98%X
1X(1—20%)) X (141.98%X1X(1—20%)) X (14+1.98%X1X(1—20%)) X (1

+1.98% X 1 X (1—20%)) =1000X (1+1.98% X 1X(1—20%)) *~=1098.88 (Ji)

JRE T RFETEWRIEAL, BRAERL, 6 ERARGT:



1000 X (142.25%X2X(1—20%)) X (142.25%X2X(1—20%)) X (142.25%X
2X(1—20%)) =1000X (1+2.25%X2X(1—20%)) *~1111.93(J0)

TE=s B EFHREAE, BRAERL £ 6 FEALES:
1000 (142.25%x3%(1—20%)) X (142.52%x3x(1—20%)) =1000x ( 1+2.52%x3x(1
—20%)) ?~1124.62(J0)
IR, EEARR AT, FESMHZE:
1111.93—1098.88=13.05(7%)
1124.62—1111.93=12.69 (JT)
1124.62—1098.88=25.74 (JT)
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10000X (142.52%X3X(1—20%)) *~1192.63 (7t)
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